-f! ---;:. P V'I,n 2 ;‘.
SRS

Math 113
Major Exam 2

Second Semester, Term 152
Thursday, March 31, 2016

Time Allowed: 90 minutes

' Prince Sultan University

(

Student Name:

Student ID #:

Serial Class #:

Instructor’s Name:

Section #:

Important Instructions:

NOUR WL~

problems.

You may use a scientific calculator that does not have programming or graphing capabilities.
You may NOT borrow a calculator from anyone.
You may NOT use notes or any textbook.
Tallking during the examination is NOT allowad
Your exam will be taken immediately if your mobile phone is seen or heard.

Looking around or making an attempt to cheat will result in your exam being cancelled.

This examination has 9 problems, some with several parts. Make sure your paper has all these

Problems Max marks Student’s marks
Q#1+Q#2 30
Qi3 10
Q#4+Q#5 14
Q6 8
Q#7+Q#8+Q#9 18
Total 80
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Q#1[14 Marks] Classify the following integrals to improper and not improper and write the reason:
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Q#3[10 Marks] Evaluate j Jx
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Q#4[6 Marks] Evaluate I (tan x) (sec x)z dx . /. oy (€A Lo )
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Q#5[8 Marks] Write the partial fractional decomposition form (in simplest form) for the following integrals
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(don’t evaluate for constant):
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Q#6[4+2+2 Marks] Let f(x) = % FH o= \/;, 1<x<16 denote to the equation of a smooth curve C.

1) Find the arc Iength function s(x) of C by using (l Tz] as a starting point.
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2) Use Part (1) to ﬁnd the length of C. :
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3. Let Q be the part of the cu;veCfrom x=4 to x=9. Use Part (1) to ﬁnd the length of €. )
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Qi#8[6 Marks] Evaluate I tan'1 Sx)dx
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Q#9[6 Marks] Find all values of p that makes j i dx improper (Show all your works).
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